
11/9/2018                                                   2295 N. Opdyke Rd, Suite E, Auburn Hills, MI 48326                                         P: (248) 821 6654 
 

    MAXIMUS-3.COM 

 

 

 

____________________________________________ 
10A/X & HARD ROCK RUBICON 

 JL HOOK ANCHOR OR FAIRLEAD CENTERING PLATE  
 

INSTALLATION GUIDES 
 

Please make sure you read and understand the entire installation guide before you start. We expect you 

to have basic mechanical abilities to perform this installation. 

 

We recommend that you separate and identify all the parts and hardware kits you received with your 

shipment before you proceed to disassemble your bumper. 

_________________________________________________________________________ 
 
Parts List:      Qty 
 
Fairlead Centering Plate     1 
or Hook Anchor 

 

Hardware Component List:    Qty 
 
M8 x 25 - Black Stainless Steel    4 
M8 Flanged nuts – Zinc Plated    4 

    

 
PREPARE BUMPER   
 
(1) REMOVE PLASTIC FAIRLEAD TRIM PIECE:  Press retainer clips, pop out of bumper 
 
(2) BOLT FAIRLEAD PLATE (OR WINCH HOOK ANCHOR) TO THE BUMPER:  
With the supplied hardware (four M8 bolts & four M8 flange nuts) Use #5 Allen Key. Line-up the fairlead holes on the plate and bumper 
 
(3) BOLT FAIRLEAD TO FAIRLEAD PLATE (OR WINCH HOOK ANCHOR) & BUMPER: 
This hardware is supplied by the manufacturer of your fairlead or winch. 

  

Tools Required: 
 

- Basic hand tools 
- Allen Wrench #5  
- Box wrench 13mm 
 


